
Genesis 51        August 11, 2024 PM

THE TESTING OF JOSEPH
(Genesis 39:1-23)

I. Potiphar’s _______________________ (Gen. 39:1-6)

A. His ____________________ (39:1)

1. Identified as an “____________________” of Pharaoh

a. Literally, ____________________ of Pharaoh

b. Also signifies __________________ or ______________________

2. Designated “_________________ of the __________________________”

a. Literally “______________ of the _________________________” 

b. Signifies having charge of _______________________________

B. His ______________________ (39:2-6)

1. Became _______________ under ___________________ management

2. Due to _______________________________ of Joseph

3. ____________________ and ____________________ by Potiphar

a. Indicates Joseph’s _____________________

b. Indicates Joseph’s _____________________

c. Indicates Joseph’s _____________________

II. Potiphar’s _______________ (Gen. 39:7-18)

A. Attempted to __________________ Joseph (39:7-10)

1. Invited him to her __________
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2. Ignored his ___________________

3. Pressured him ________________

B. Attempted to _______________ Joseph (39:11-12)

1. Found him _______________ and grabbed his _____________

2. He ____________ his cloak and ____________

C. Decided to _________________ Joseph (39:13-18)

1. Told Potiphar he’s tried to ________________ her and she 

____________________

2. Used his cloak as _____________________

3. Implied it was _______________________________

a.  “_________ brought this slave to _________” (v. 17)

b. “This is what ________________________ did to _______” (v. 19)

III. Potiphar’s __________________ (Gen. 39:19-23)

A. May have been _________________ with his __________ than with 

_______________

B. Put Joseph in ___________________ (39:19-20)

1. He ____________________ have him __________________

2. He may not have __________________ his ____________

3. He certainly ______________________ Joseph

C. Saw the prison ______________________ (39:21-23)

1. Under Joseph’s ________________________

2. Due to _______________________________
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